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PCH Calculus 1
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Multiple Choice
Identify the choice that best completes the statement or answers the question.

Limits
ax+1, if x<2
1. Let fix) =
x5, if x=2

find the value of a for which lim f(x) exists.

x—>2
3 3
i 12 L
2 2
b. 3 e —3
@ 3 f. none of these
2. lim secx=
T
X—> =
2
a. —o e 1 —
2 B -
C. % g. none of these [M\
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b=
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3. From the graph shown, which is necessarily true:
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— a—Wronty
b. Tonly
C:M*I“;’H“é‘ﬁaﬂ ———..
d. none are true.

3 _
4. lim xx— 11 =
- x—>1"

a. 1
b. -1
c. does not exist

1
d. - 3

(3D Tonly
f. Tand Il only
-g IL.and.JII r\n]y

— ~ =X “if:,/ |
e. —3
1
f. 3
| £\ +| T3
h. none of these
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none of these
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Name:
x—4
9, =
x—>4 |x - 4l
a. 2 e. does not exist
1
b. -1 f. 4
c. 1 g. -2
d O h. none of these
10 Iim }‘1—2 =
x—>2"
1 :
a. - 1 e. -1
b. 1 f. —oo
c. g. none of these
1
d. 1
. h,mln(1+h)—ln1 fﬁ‘{(f"\
"o h B X T o —
g =1 Z d. e
b. 2 e. O
e 1 f.  does not exist
1 B 1 ] !
) 4+h 2 M/ 72
12. Im E— / ~+ (L,.5> )<
E—0 : e >/ ~ \
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16 e s (
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b. 16 f % \[

P )
. 1 -
c. does mot exist i 16 _— //

d. __-31 h. none of these
= »7/ P

ID:



Name: ID: G

(D75
/ /N /t)\(w L(X) 'M“\, (N}r )
P cosZL +h}~coszlE-J \_O= ‘ ’ L
4
13.  lm =

h—0 h

does not exist @ -1
f.

. _4;% N = /;i)( -
A2
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D Cosey v —gincad
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tje]

L 4 2

d. - 3 h. none of these
Derivatives I
|
j X
dy {
. . — x _ 1) ¥/"" 13 @
14. Find =7 when y ln(e 1) = \;
¢ e. €
e’ —1 <
b. ' -1 ¢ :e
e -1
C" ex o | . & —ex +1
d. 25 h. none of these
1-¢€*
. 4 dy _ x%-1
15. Find o when y=5—75,
2
) —Z(xi =%k 1)
(1-2x)°
2 >
—(x =X %+ 2x;/1’/
) - b =
(1-2x) )
2 ~\. 9 =
y 2 o 2(x xS 1) R\ % L \)
2 /") ? . \‘\
h. none of these === < —y \W
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= 2 5ec 2X 2
&y = e ) g <
—_— = () Y b .
16. Find e when y = A/ tan5x ] C\/Q —~
s — L . 5
' 2+/tan5x ' 24/ tanSx
2
@ 5sec”5x ¢ 5sec5x CC’{;X s o
24/ tan 5x 24/ tan5x b e ——
1 sec?5x }hs’;fk {FS
c. — o B
24/ tan5x & 2/ tan 5x ¢ 1+
-5 = T
d —— h. none of these B
24/ tan5x
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a. T\ ‘:ﬁ S ! 5(,‘ :’:>«
X Q{)\ :‘A; b le -
X ”é \ N + @C) X 195 o
b. |
’\/E i ). 2
C. — \ - % N X ~oV0 K g
- : — © 24 «/E
2442 é ~gian)
d. h. none of these
2 2
A2
d A 7
18. Find =2 when y = 5~/x — _(2) : J‘;;f”” ~
dx X 2\/; g =
e 2 Fo
s ~ e DI § _ ‘ 7 -
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x +20x — 7% /6/24/ 10x 1y —
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1 o 3 : ?;’”
2 _2/2,@_3“ Lo gx ? —4x i 4 7
1 ‘ 1 5 (} | &
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-l = Z I - =
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o~ 19 ;ix[li@l): é@@% > -5 /> (i /’r:EX)(«

/ cosx—1 =
gﬁb 3
2sinx
(cosx+1)° e Q%/
—sinx ; -
/.//'(CO'S"JACL 1)* e nx
2sinx ) ppleedi
g ~ s/ffr/ e T2
,/l/eﬁ (x/}“if = >
h. none of these
B g :
22D S Lo
(3" +4) —0Z X
10x o ,, £
f 5 5 C )X ‘”7
(3x +4)
. 3
-~ : o
=
h. none of these
X (L 8) - (x5X.D
dy 2 551 - gERSA
21. Find— wheny=—""—> "
dx x X
, 5.2 s
i x %o % x’
p 7% -5 ¢ 2x+5
2 2 ~
& x2 x3 & X2 X3 T
d L 2 7 h,/ none of these
2 3 ,
x° x \_/ N
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Name: D: G
- 9. awnx
5\ (/&"L’:X A A X DD
~22.- Find fil when y = x*sinx
dx
a. 2xsinx e. 2xcosx
b. x*cosx—2xsinx f.  xcosx—xsinx
c. x’cosx+xsinx @xz cosx +2x sinx
d. x?cosx—xsinx - none of these
Applications of Derivatives
23. Find an equation of the line perpendicular to the tangent to the graph of f(x) = x> —3x+1 at the point (2,3).
: _3=—=(x- =X —
/A? y-3=—5&-2) |
1 E, -
f. Y= 2= —'5 (x == 3) . » 0 (7({“-,":
, D
g W) = |
= é h. none of these P ”Mf N ?
24. Suppose that u and v ar function of x that are differentiable at x = 2 and that u(2) = 3 w(2)=-4,v(2)=1and v’(2)
my
= 2. Find the values of% (uv) atx = 2. -
a. -2 e. -8 /
b. 6 f. 8
c. 1 g. -6
2 h. none of these s ¥
. : ; T _ =
25. Find the slope of the normal line to A(x) = 2sin(4x) when x = - \ / A X~ __«5
C
a. -1 e. 1 -
) 1 A= =Yy + [
b. 2 A b
4 ( /) _ '
- 2 iy
c. -4 g. 4 ol X “) X >
A/ d. h. none of these
( &M g7 =2
At Tl k-;t’vi\f" //‘
Eposin) e
. s Ad —
e J Vi %y > %IL{
/ £ 5,/
S { ’”f&'.:‘ « A
gf |
f { = Y Y\/\ N a7 = - ’.i/j
(/ .ﬂ‘»—/:, &7 i



‘ Student Grade Report

Legend: Incorrect: ]

Student: Vestil, Keanu

, , - Total Score
Overall 21.00/25.00

Responses
Question

Response  Correct Question

Answer .
D Question10

Correct
Answer

Question ~ HResponse Correct

- Response

~ Answer

Question1

e F Question19 C
Question2 F Question11 C Question20 A
Question3 E Question12 G Question21 H c
Question4 G Question13 E Question22 G
Question5 C Question14 A Question23 E
Question6 C Question15 A Question24 D
Question7 E B Question16 B Question25 D
Questions G Question17 E F
Question9 E Question18 A

3/20/2014 Student Grade Report Page 10



